WAC 192-610-051 How is the weekly benefit calculated? After a
valid claim year 1is established, the department will calculate the
weekly benefit amount using the following process:

(1) The department will establish the employee's average weekly
wage by dividing the total reported wages in the employee's two high-
est-paid quarters in the qualifying period by twenty-six. If the re-
sult is not a multiple of one dollar, the result is rounded down to
the next lower multiple of one dollar.

(2) If the employee's average weekly wage 1is equal to or less
than one-half of the state's average weekly wage on the date the cal-
culation is made, the benefit amount is ninety percent of the employ-
ee's average weekly wage.

Example 1: For this example, the state's average weekly wage is
$1,400. An employee's average weekly wage 1s $600. Since this amount
is less than half of the state's average weekly wage, the employee re-
ceives 90% of their weekly wage. The weekly benefit is $540.

(3) If the employee's average weekly wage is more than fifty per-
cent of the state's average weekly wage on the date the calculation is
made, the weekly benefit amount is the sum of:

(a) Ninety percent of one-half of the state average weekly wage;
and

(b) Fifty percent of the difference between one-half of the state
average weekly wage and the employee's average weekly wage.

Example 2: For this example, the state's average weekly wage is
$1,400. An employee's average weekly wage 1s $950. Since this number
is more than half of the state's average weekly wage, calculate the
values for subsection (3) (a) and (b) of this section, then add them
together. The first number is equal to 90% of half the state's average
weekly wage. Half of $1,400 is $700, and 90% of this number makes the
first number $630. The second number is equal to 50% of the amount of
the employee's average weekly wage that 1is higher than half the
state's average weekly wage. The amount of the employee's average
weekly wage that is higher than half the state's average weekly wage
is $250 ($950 - S$700). 50% of this amount makes the second number
$125. Add the two numbers together. The weekly benefit is $755.

(4) If the result of the weekly benefit calculation is not a mul-
tiple of one dollar, the result is rounded down to the next lower mul-
tiple of one dollar.

(5) All weekly benefit amount calculations are subject to the
minimum and maximum weekly benefit amounts under RCW 50A.15.020 (5) (a)
and (b) .

(6) The weekly benefit amount determined in subsections (1)
through (4) of this section is prorated by the number of hours claimed
for paid family or medical leave compared to the number of typical
workweek hours.

Example 3: An employee has a weekly benefit amount determined to
be $1,000. The employee worked 20 hours each week in the qualifying
period. The employee is now full-time and salaried, causing the de-
partment to consider that employee's typical workweek hours to be 40.
The employee can claim 40 hours on each weekly claim. No proration
would occur because the hours claimed compared to the typical workweek
hours are the same. As a result, the employee would receive 100% of
their weekly benefit amount.

[Statutory Authority: RCW 50A.04.215. WSR 19-23-090, § 192-610-051,
filed 11/19/19, effective 12/20/19.]
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